BXEN-BRXELEH

FIELBAXRFERXT—RFHEXE BEEXE £18§ KB-EA
28188 28198 28208 28218 28228 28230 28248
(%) q=D) (H) () () (R) (%)
14:00 i EE S 17:00 Bi&=t 16:00 A&zt
1= 15:00 4 EEEZES(19:00 LET3>
16:00 7' VAI—T(UY
TILRY 10:00~12:00 SG TF1E} GS BF1-28p GS &+1-28F SL BE+1-28) SL ZF1-28}
SGAFKEE SG BF1-2%8 GS BF3E0 SL B-¥388
TCM 14:30 TCM 16:00 TCM 16:00 TCM 16:00 TCM 16:00 TCM
JARAURN)— 9:00 B+ 1-2ZF30kF[ 9:00 ¥+ 1EB10kF [9:00 BF1-2E810kC [10:00 ZTF2EJL— [10:00 ZF1EIL—
10:30 ZF 2EF10kF|11:00 2 F1-2E85KkC [12:00 BF3E)L— |11:30 BF1ZYL—
12:00 BF 3&F10kF|12:00 BF3E5KC 14:00 BF28p1)L—
TCM 1400 BF1-2E8 14:00 ZF1-2%F, BF3%8
SxoT 9-00 ATEE(RE) [9.00 Svo REaE|wiBAa 10:30 AR@EZ (M) [9:00 v I (BA)
ZF1E NH ZF1E NH ZF2E MH LZF2E MH
EF1E NH BF1E8 NH BF2-3% MH B¥2-38 MH
TCM 14:00 1EB(KE2)
14:00 2% - 3% (KEE)
IR 18 A XS (KEENH) 188 A (KEENH) 9:00 AXEE (EAMH)[2-3THS (BEAMH)
11:00 AXFE x 1K 9:00 ZF1E NH PCRX 1K 10:30 ZF2&F MH
PCRXx 1A BF1E NH F2E MH BF2-3%8 MH
TF1E NH 13:00 ZF1#B 3km BF2-3% MH |13:00 ZF2E8 3km
BF1E NH B F1EB 10km BF2-3%F 5km
TCM 14:00 1Ep(KE3)
14:00 2%R- 3B (KEE)
XEFAVNAURIEA—TomRELET,
BmBEE TILRY KEBLRRAX—1I5 MEEFyEA4A>a—2 & X KRERTII KRR KREE
HARAUN)— EFHEHLSYORDUMN)—a—R Bl & R KREHTIR SR 27—
DT aviNAUr KEBET BRIV (BF1E, TF1ER) = &2 K BHRHERE
EAT Em vy (BF2, 35, KF2E8) TCM£15 KEEHTHA SRtz 27—

FERREHH

KESHT R R REE




